97711704

DALFEBE

Faly

LA

GUHNN
GUNH
FUHH

L&
Milpitas
B

5C
Milpitas
Faly
GUHNN
Hilpitas
Wilcox
LA

LA

Paly
OUHNM
Milpitas
GUHNM
Milpitas
Loe Gatos
Loz Satoe
GUMN
Paly
Wilocox
La

s3C
Wilcox
GUMNN
Paly
FPaly
8rtoga
Hilcox
Witanx
Wilcos
GUHHM
GUHH
Wilcox
LA

MY
S'toga
Loas Gatos
Wilcox
L&

S toga
MV

Faly
S'toga
Loz Gatog
Framont
Fremont
Faly

Log Gatos
5'toga
Milpitas

l4:09.49
14:40. %
15:05.40
15:068.7
15:15.4
15r23.3
15126.7
15:35.8
15:44.D
15:51.3
15:54 .7
15:582.49
16:00.
laz20.2
1&6:30.3
15:34.5
16:39,9
16:44.72
16:458.5
16:47.1
16:48.4
16:50.1
l6:50.2
16:=6H+.4
156:69.0
17:03.0
17:005. 4
17:07.3
17:12.0
17:=17.0
17:21.1
17:=1.8
15:00.4
18:14.4
15:11.2
18:25.6
18:32.4
l8:2a.2
18:27.10
18:37,9
13:42. 06
laz47.5
1B:=50.1
18:51.5
l8:523.8
19:056.2
19:15.0
19:240.5%
19:23 .82
l1o0:2E.1
l2:29.4
1%:321.4

{Merged with acfp:xmen)



g7
B8
59
A0

52
a3
64
65
(3]
&7
(78
[}
70
71
T2
73

h
78

T2
74

20
21

B3
24

s 7

ES
a0

a2
* 093

a5
9a
L

a5

100
191
1902
103

Ccrtingo
Lo Gaton
S"taga
Los Gatos
Homeptead
Homestead
M
Homa=stead
Eftoga
Los Ccatoe
Sftoga

LA
Home=stead
Homaztead
Fremont

S toga
Fremont
LYNBRODE
MY
Milpitas
Los Gatocs
Loo Gatos
MYV

M

A
LYNEBRDCE
Sfkaga
Wilcoox

M

crting
Wileox
LYNBROGHE
LA

Faly
LYHNBROOE
Fremont
LYHNBROOE
LYNBRIOE
Framont
Cr'tino
Crting
LYNBEQOK
Fremont
Fremoht
EC
Fremont
=1

19:32.4
194:133.3
12:34.2
1%:35.3
12:3E.4
1931349.0
19138.5
1%:40.9
13 r42. 4
19r33.7
19145, 4
19:45.4
<0 B
20:02.5
L0105, 9
20:0EBE.3
A0:10.4
a0:16.0
20:116.5
20:17.8
290:1%.1
20:20.4
20r22.0
20:120.5
20135.56
2013E.1
20:41.6
201444
20345%.0
203i35). 4
21:1009.,7
£1:15.0
21:1B.5
21:19.14
21:222.H
A1:38.7
21:53.7
22126.1
232:30.6
22:37.4
22:42.F
23:27.7
24:115.8
25:06. 6
27:28.86
27:40.2
28:35.5



8711710 DUAL MEET SCORES - [DALFS (Merged with ecfs:xmem)

LYNBROOK [8-9-10-11-12++13-141= 50 GITHN [l=2=3=4=G++6=T7]= 15
TYNBRODK [8-9-10-11-12++12-14]= 50 Faly [1-2-3—4—-5++6-7 = 15
sn_ (BROCK [1-2-3-4-5++6-71= 15 Mt Ve (1= 9484
LYNBROOK [8=9=-10=-11-12++13-14]= 50 i [L=8=3=4=5++6=7]= 15
L¥NBROODK [7-9-10-11-12++13-14]= 45 Milpitas [1-2-3-4-5+46-8]= 15
L¥NBEOQOEK [8=U=]10=11=13=+=+]13=14]= 50 Wilcox [1=2=F=4=H++b=7]= 15
LYNBROQK, [4-5-6—7-8++9—-10]= a0 sC [1-2=-3=11-12++0=-0D]= 29
[105:235.)
Log Gatoag[7=-8=10=-11=-12++13=-14]= 4B GUNH [1-Z=3-4=h++A— 9]— 15
Loz Gatoa[4-5-9-11-12++13-14]m 41 Paly [1=-2=3=-6=-T++8=-10]= 139
Los Gatos[l=2=3=4=5++F=7]= 15 Mt Vv []= o94d
Lo Gatoa[3-G-9-11-121+13-14]= 43 LA [1-2=-3~4-F++B-10]= 17
Ioe Gatos[&6=-T=-B=9=10++12=13]= G0 Milpitas [1-2=-3-4=-5++11-14]= 15
Los Gatos[2-3-10-11-12++13+14]= 3E Wilcox [l-4—5-6-7++8-3]= 23
Los Gatoas[3-4-6-T-8++2-10]= ZE 5C [1=2=0=]]1l=12++0Q=0]= 31
(go:50,2)
S'toga [-9-1D0-11-1Z2++13-14]= 5D GUNK [1=2=3=4=h++6-7 = 15
5'toga [?=8-5-11-12++13-14]m 47 Faly {1-2-1-4-54++6-101= 15
&'toga [1=2=3=d=GattB=T]= 15 Mt Vw []1= 5o9
5'toga [6—8-10-11-124++13-14)= 47 1A [1-2-3~-4-G++7-9]= 15
E'toga [E=7=-B=9-10++12-13]= 40 Milpitas [1-2-3-4-5++1l-14;= 15
H'toga [4-%—10-11-124++13-14}= 406 Wilcox [1=2=1=5=G++7=5]= 17
S'toga [4=E=H=7=8++3=10]= 30 BC [1=2=3=11-12++D-0}= 20
(93:38.7)
' westead[3-9-10-11~12++0-0]= 50 G [1-2=2=4~584++EC=T = 1E
lvmestead|[#-8-10~11-12440-0]= 5O Paly [1-2~1=4=5++6=7]= 15
Homestead[1=Z2=3=4=5++0=0]= 15 Mt Wy [1= 305
Homestead [3-9-10-11-12++0-0]= 50 T~ [l=2=1=4=5++E=7]= 15
Honmestead[7=£=9=10=11+40=-0D]= 45 Milpitag [l-2-3-4-5++6-12]= 15
Homestead[8=-9=-10=11=12++0-0]= 650 Wileox [l=@=T=d=Faef=7] 15
Homestead[4=-5=6=-T7-3++0-0]= 30 L [1=-2=-3-0=10++0-0]m 25
(99:04.6}
Freamont [8-9-10-11-12++13-14]= 506 NN [1-2=3=4=B++6=7]= 16
Fremont [8-9%-10-11-12++13-14]+ GO Paly [1=2=3=d~5++6—-T]= 15
Fremont [l-2-3-4-~5++6-7]= 15 Mt Vw [1= 995
Frewmont [8=-9=10=-11=-12++13=14]1= 50O LA [l1=2=F=4=H++8=7 = 15
Fremont [e-7-83-10-12++13-14]wm 44 Milpitas [1-2-3-4-5++8-11]= 15
Frement [8-9-10-11-12++13-14]= &0 Wilcox [1=2=-3=-4=-54++E=-7]= 15
Fremont [4-5-6-7-8++2-140]+ 30 Sy [1=-2=-3-11-12++0-01= 2%
(100Q:30.})
Citino [3-9-10-11-]= 990 GUNH [1=2=3=d=5++8=7 |= 15
C'tinoe  [8-9-10-11-1= 5999 Paly [1-2-3-4-B++6-7]= 15
Cltino  [1-2-3-4-]= 959 Mt Vu []1= 890
C'tino [(E=-5-10-11~-m 999 L& [1-2-3-4-E++6-7F]= 15
Ccteine (F=9=10=-11=]= 999 Milpitags [l=2=3=d=f4+K=8]= 15
cteline [(B-2-10-11-]= 999 Wilcox [1-2=3-4=54++6~7]= 15
Cteina [4=-5-6-T7-]= 293 sC [1=2=3=&=G9++0-0]= 23
{B5:143.5)
MV [B=D=10-11-12++13-14]= 50 CUNN [1=2=3=4=5++E=7]= 15
MV [F=-8-10-11-12++13-1d4]= 4& Paly [1-2~3-4-F++6-2]= 15
M [1-2=3=4=541G=7F]= 15 Mt Vu []1= 293
MV [7-2-10-11~12++13=-14]= 49 L4 [1-2=3=a=0++H=8 = 15
MV [6=7=8=-10=124++13-14)= 44 Milpitas [1-2~3-4-5++8-11]= 15
MY [3—5—-10-11=124+13-141= 50O Wllecox [1-2=3-4-5+16-7 = 15
LAY [A=-5-6=-F=-A++0-10]= 3o 1 [1-2-3=-11-12++0D-0]= 249

(97:40.5)
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350 (68281 (1:37.7)
180 [$0:%0.21 [2:35.00
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12 é{_h‘ _ 290 CO06.6] (025,17
%H‘ 293 10G:30.) {2257}
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or § [p:00,.0]
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D=-a0.0%F

O 000,00 ¢3:=00.0)
o Q1 [0:00.01 {00005
42 [FA:10.80 (1:59.81
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27731704

Easm-qmtnhnamﬂ

11
12
13
14
15
15
17
iz
19
210
21
22
a3l
24
25

~a ¥
48
29
34
3l
12
3
34
35
34
37
]
39
40
41
42
43
44
45
46

LB
49

20
=1

~_
83
a4
w 55
=10

DALVE

LA

cfeine
Los Fatos
Homestaad
GUNMN

Lo Gatas
BC

GINH

Lo=s Gatos
GUNH

L&

Crtino
GUNN

Log Gatos
Milpitas
LA
Heomaestaad
E'toga
Loe Gatos
Homestean
& toga

B Loga
Los Gatogs
20
Wilcox

5C

Paly

LA
Frewmont
Wilcox

M

Faly

GLUNY

LA

5 toga
Sftoga
5ftoga

s8¢

MY

LA

GUNH

LA

C'ting
Crtine
Fremoant
MW

Mt Vw

Mt Vw

1= Gatos
Faly
cTtino

MW

Wilcox

MY
LYNBRODE
Milpitasz

15:56.5
1€:02. 8
16:13.2
l6il6a.3
16:218.49
16:23.0
1h:23.1
16:25.1
16:31.0
16:31.4
1Ga:42.4
16:43.%
16:532. 4
17:04.4
17:19.2
17:24.D
17:25.5
17:29.5
173302
17:31.2
17:i132.8
17:34.2
17:36.2
17:35.46
17:35.4
17:39.4
17:z40.1
17:42.3
17:43.4
17:44.1
17147 .8
17:52.5
17:53.8
17:55.7
17:156.3
18:01.0Q
18:415.9
18:02. 4
18:12.0
18:12.5
18:13.F
12:153.6
18:22.1
12:23.7
184:=32.0
18:x32 .9
16:=:33.0
18:33 .8
184:35.1
18:36.4
13:37.3
18:3E.3
13:3B.7%
14:x9.9
13:41.6
12:44.8

(Marged with ecvbixmon)



57 Wilcow
58 g toga
* oD L¥NEROOK
) o
- Homastead
T4z Milpitas
63 Mt Vw
* Hd LY HBROOE
65 Hemastead
[ HY
57 Fremont
GE Creirno
* LG LYNEROOK
T0 MV
T1 > TIHN
T2 Wilocox
T3 Fremont
74 Wilcox
75 Paly
Th trEing
77 raly
TB Mt Vw
* 7O LYNEROQOHK
ED Milpitas
g1 L i
2] Homestead
83 Mt VW
* A4 LYHNBEOOQE.
B =0
3 Faly
e T Mt MW
B3 Paly
& B9 LYNBROOER
a0 Mt VW,
- 31— " Fremocnt
3, Milpitas

15:44.8
12:47.4
18:52.%9
18:5&6.8
18:57.7
12:00.0
12:15.5
19:16.0
19:18.6
1g:18.7
1923 2
13:25.1
19:27.0
19:37.68
12:3a. 8
19:143.3
19:53.6
30:02.2
20:0B.5
2a0:13.7
20:15.6
2032a.1
20:27.2
20:13%8.1
20:32.7
20:146.,0
21:01.4
21:39.0
21l:40.E
21:42.2
21:50.4
21:F9.5
22:41.4
23:12.9

TR RIRTR-

23:38.1



87/11/10

LYNBRCOK
LYNBROOK

HOROOK
"L¥NBROOK

¥ HEROOT
LYNEROOFE
LYNEROODE,

DUAL MEET SCORES ~ DALVE

[7-8-9-10-12+413-14]=
[4-5=6-7-10++11-14]=
[3=4=6—T=0++11-13]=
[B-9=10-11=13++13-147=
[2-4-6-7-B++10-11]=
[4-6-7-8-11++12-13]=
[5=6-8-9=-104++12-14]=

(96:44.7)

Log
Los
Lag
Las
Lo=s
Los

Gatos[l-3-6-8-O0++10-13]=
GAatoS[l-2-)-d=5++E=0m
GAtoE[1-2-3—-4=5++6=-5]=
Gatog[2-1-4-F=8++3~14]=
Gatos(1-2-2-4-6++7-2]=
Gutos[1-2=3-4=5++6=9)=

Los Catos[1-2-4-5-6++7=11]=
(8¥r31.8}
S'toga FS=-6—7-5-10++11-13 |=
S'toga [1=-2=3-g-7++E-10]=
E'toga [1-2-3-4=-5++E-F =
5'toga [4=5—6-D0=-10++11-14]=
5'toga [(2-3-4=-5=-(++7=-2]=
STtoga (1~2-2-6-7++8-11]=
S5'toga [2=3=4=-7=B4++0-1]1]=
(BA:33.3)

F ooestead[1-6-7-10-11++13-0) =
h._estead[1-2-3=-7=8++11-0]=
Homestead[1=-2-2-6-8++10-0]=
Homestead[2-5-6-11=-124+13-0]=
Homastead[1-3-4-6-B++10-01=
Homestead[1-2-3-B=9++12-0]=

5
3z
29
50
27
3ad
is

3
1%
1=
23
18
15
l1a

)
13
15
34
20
13
24

35
21
20
ie
g
23
a7

45
31
28
43
27
33
3o

ia
22
17
39
18
21
za

42
26
Ia
45

Homestead[1-5-4-3-10++12-0]=
(B9:120.7)
Fremont [5-8-9-11-12++0-0]=
Fremont [2-4-8-7-12++0-0})=
Fremont [l-2-&6=-7=1Z2++0-0]=
Prament [5-%-10-11-12++0-0]=
Fremont [2-3-6-7=-3++0-0}=
Framont [2-4-7-9-11++0-0)m
Fremomt [4-6—E=-09=-124+0-0]=
(B2:04.40]
c'ting [1-5=-2=-10-11++12-14]m=
C'tino [1-2-5-6=-8++8=11]=
C'tino [1=2=3=4=7++9=1D]m
citine [2=4-10-11=12++13=14]=
c'ting [1-2-4-5-6++9-10]=
S'tine [1l=2=5=6=F++10=13]m=
c'tine [1=3=7=B-%++11=12]=
(33:16.8)
L K [G=7=0=10=11++12=-13]=
My [Z=4=-5-T7=B++8=-10]=
MY [1-2=-3-G-7++9-10]=
M [G=¥=10-11-12++12-14]=
- E
My [2=-3~4-5-6++9=-1D]=
53 {:-g-$—§—9++1n-11].
{91250, 7} Frriisizye

999 = Inconplete Twam

20
2B
14

G
Paly

ME v
La
Milpitas=
Wilcox
sC

GUNN
Paly

Mt Vw

-
Milpitas
Wiloox
ac

GUMNN
Faly

Mt Vw

LA
Milpitas
Wilcox
=C

GUNN
Paly

Mt Vw
LA
Milpitags
WHilcox
sC

GUNM
Paly

Mt vw
LA
Milpitaa
Wiloox
50

GUNN
Faly

Ht Vw
La
Milpitag
Wilcox
&0

EUNN
Paly
Mt wy
LA

(Merged with acvhixmem)

[1-2-3=4=6++5=11]=
[1-2-3-8-5++12-13 =
[1=3=5=3-10++412-14]-
[1=2-3=4=5++6=7]=
[1-3-6=8=12+40-0]e
[1-2=3-5-2++10-0]=
(I-2=-3-4-7++11=12]=

[2~4=8=F=114++12-14]=
[7-8-10-11-12+4+13-141]=
[7-8-10-11-12++13-14]=
[1-5=7-10-11++12-13]=
[5=9=10~11-12++0=-0]=
[7-85=-10-11-124433-0]=
f2-8-0-10-124413-14]=

[1=2=3-4-8++12-147]~
[4=5=9-11-12++13-14]=
[F=8=10=11-12++12~14]=
[1-2-3-7-8++12-13]=
[1-B=10=-11~12++0-0]=
[4-5-9-10-12++13=-0]=
[1-5-6-10-12+413-147]=

[2=-3-4-5=-A++5=12 =

[4=5=&=0=~10++12~13]=
[#-5~=7=S2-11++12=-13]=
(1-3-4-7-84+4+9-10]=
[2=-5—7
[4-6=-58
[2=5=-8

—G=11++0=i1]x.
=7=104++11-0]=
-7-B+¥11-13]=

[1-2—3=4=6++7—-10]m
[1-3-5-8-9++10-11]=
[I-4=5-8=-94++10=11]=
[1=2-3—4=6++7-B]=
[1=4=5—E=1Q++0~-0]=
[1=3=5-K=B++10-0]=
(1-2-3-5-F++10-11]=

[2-3-4=6-74++4B—13]m
[3-4-7=-10-12+4+13-14
[5-6-8-11-12++13-14
[1-3-5-G—7++B=9]=

[3=7=B~1l=12++0-0]=
[3-4—E=-9-11++12-0 =
[2=4=5-6-10++13=14]=

[1=2=3~4-6++3-14 |=
[1-3-6-11-12+4+13-141=
[4-5=-8-11-12++13-14]=
[1-2-3-4-E++B-9]=

1=
213
28
15
31

17

30
418
48
34
47
48
42

1E
41
48
21
42

i3

22
34
36
23
d4
32
28

1ls
24G
29
16

23
1B

a3
s
42
22
11
35
27

16
i3
40
16

= ———

Milpitas [1-7-8-11-12++0-0]=

Kileox
5C

[1=2-7-8=124+13-0]m
[1=2-3=5-10++13-14 =

]l
31
21
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* 56

DALYG

Paly

Paly

Los Gatos
Faly

GUNM
Milpitas
cCrtino
Loae Gatos
=UNH

MY
Milpitas
. L
Hilpitas
Faly

5t F

Los Gatog
St F

Loa Gatos
GLUNH

5t F

sC

Los Gatog
M
Milpitas
St ¥

LA

Mt WV
St F
C'tino

&’ toga

St F
Milpitas
Framont
LYNBROOK
Faly

g toga
Loa Gatos
LA

5t F

MY

sC

Milpitas
GLINH

S toga
GUHN
Paly
Framont
M

MY

Wilcox

S toga
Eftoga
L&
LYNBROGEK

18:43.6
19:x12.7
19:15.0
1¢:2R.6
1t:z46.5
1€:4B8.2
19:z56.48
20:07.1
2D:23.1
20:225.3
c0z25.5
20236.4
20137.4
20244 .45
20:45.8
20:1%1.5
c0O:H2.9
20256, 3
c0thEB. 0
20250 _1
21:01.1
21:09.3
21112.5
2l!119.5
21:29.2
21l7131.2
21:32.4
21:35.4
21:440.8
21:r41.49
21:49.7
22:'02.,.5
22:07.7
224:165.5
22:16.19
22:23.3
2212E.8
22:28.0
22:29.7
22:31.8
22:33.0
22:31.49
22242 .0
22:24H.2
22282.10
L2105, 8
£73:03.2
231:07.8
23312.5
22:321.1
22124 2
23231.4
23:131.48
22143.9
23:416.9
23:45,0

(Herged with ecvyg:xwen)
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53
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a7
ad
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70
71
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78
79
234]
Al
a2
&3
g4
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gd:=31.0
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24138, 2
24:36.58
Z2g:41.49
24142 2
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24 1R4.5
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zH119.5
25139, 4
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STFLLFOE DUAL MEET SCoRES - DAaLVG
LYMPROOE [4-7-9-11-12++13-14]= 43
SROOK [5-E-9-10-11++12-13]= 43
ELIABRODE [2-3-S=5-8++9-11]= 24
LYNBROOR [2-5-?-10—12++13—l4]= 3a
LYNBROOE [5-3-9-10‘12++13-14]= 45
¥ LYNEROOK [1-3-6-7-9++10-11]= 26
gLYNBROGK [2—4-5-6—B++9-13]= 25
[120:z26,)
Log Gatos[1-3-5-4-B4++3-14]= a3
Los Gabocs[3-5-7-8-9++11-12]= 32
Log Gatos[l-z-3-4-S5++7-12]= 15
Toe Gatos[l-2-3—4-5+4+7-14]= 15
Los Gatos[1-3-86-7T-B++1l1-14]= 25
Log Gatos[l-2-3-4-5++G6-121= 15
Los gaktes[l-2-3-4-&6++7-14]1= 1&
[102:23.)
5'taga [4-5-7-2-10++11-12]= 35
§5'toga [5-7=-8=10-11++12-13]= 11
ZYtoga [2-3-4—5-6++7-8]= 20
E'toga [2-3=5—-&—TF++0=11]= 23
5'toga [G=7=9=10-11++12-33]= 42
3 'toga [1-2-3=5=G++7=3]= 17
Sttoga [2-3-5-G=-7++8-9]= a3
[114:14.)
heaestead[4-7-]1= GEB
Homestead[E-8-]= oo
Honestead [(2=3=]= 299
Homestead{3-4-]= 5590
Homestead[G-8=-]1= 9949
Homeetead[1=-2=-]= G499
Homestead[2-4-]1= R
(46:02.1)
Fremont [4=7-8=-11-12+44+0-0]~ 4z
Fremont [S—3-9-10=11++0-0]= 43
Fremont [2=1=4-G-9++0-0]= 24
Framont [Z2-4-6-10-1zZ2++0-1]= 34
Fremont [G6=8-9-10-12++0-0]= 4h
Fremant [1=2-4-T-10++0-{1]= 24
Fremont [3=-4=5-6-11++0=-0]= 28
{121:07.3
C'tinho [2=F=10=11=12++0-D]= 40
o'tino [A=6—%-10=-11++0=0]= AD
C'tino [1=3=5—f-9++0=0]m 24
C'tino [1-3-9=11=-12++3=0]= e
C'tino [Z=B-2-10=12440=0]= iz
C'tino [1-2—&=8=Y+r(=0)]= 26
C'hing [l1=3=5-G—114+40=0(]m 26
. 117:15.]
MV [3—4-6=T7=10++11=14]- 30
MV [4=-5=-7T-9-114+412-13]= a6
MV [1=-2=3=5-6++7-D]= 17
MV [1-2~3-6-T++B-14]= ig
Lkl [2=4=BE=5-11++12=13]= iz
MY [1-2-3-4—8++56-11)= 15
b [1=2-4=5-T++E-B]= 1%
107 :57.])
st F [1-4=6=F=f++3=10]= 28
5 F [6=€=F7=E=0++10-12 ]= 15
5t F [1-2-3-4-6++7-B]m 15
5t F [1=-3=3=4=G++T7=0]= 16
st F [4=5=6=E=-0++10-1Z2 ]= 3z
St F [1-2-3-4-5++5=7]= 15
5t F [1-2-3-5-a++7-8]= 17
{105:42.}
999 = Incomplete Taam

[1=-2~3—-E-B++8=10]=
[1-2=-3-4=-&6++T7-0]=
[1-4—7=-10=-12++0-0]m=
[1-3-4-6-B++9-11]=
[1-2=3-4=B++7-11]m
[2=4-5-8=12++0~0])=
[1-2-7=-10=-11++12=14]m=

[2-4—7-10=11++12=13]=
[1-2=4=6=10++12~0]m
[6-B=9-10-11++0-0]=
[6=8-0-10-11++12-13]=
[2-4-5-8-10++12-13]=
(7=E=9-10-11++0-0]=
[5-B-9-10=-11++12-13]=

[1=2=3=5-8++13-143=
[1-2=3-d4-6++9=0]=
[1=8=10=11-12+40-0]=
[1=-4=-E-10-12++13-14]=
(1-2-32-4—6++B=14]=
(4=-5-10-11=-124+0=0)=
[1-4-10-11-12++13-14]-

-G=G++a—81m
= =5++7-0]=
—6=7++0=-0]=

~G=T++8-D]=

—4=bBe+T=-3=

-G=7+0=0]=
—A=7++g=9]=

U mLﬂUImLJw

-S—5++5-10]=
-4=-5++7-0]=
-B—10++0-0]=
7-8++9-11]m
—a-E4+7-11]=
-5=9++0-0]=
-8=-9++10-12]=

=7++E-9]=

-7++8—0]=

-10++0-0]=
-7++8-10]=
- -?++B-11]—
—~10++0-0]=
—G4tl0=12]=

m~qm(nmlma

—-E-9++12-137=
=6=8++10-01=
0-11 1Z+40=-0] =

HLJm

17
15
23
21
15
2h

21

17
1%
i1
<4
1%
31
Z8

25
20

[

[4-5-9-10-11++]12=13]~
[1=-3-5-7-8++101-14]=
[f=B=9=10-12++0-0]=
{3=6=-10=-11-12++13-14|=

[1-2=5=11-12++13=14]=
[1-2-3-4-11++13-0}=
[5-2-10=-11-1Z2++0=0]m
[5*8*10-11-12++13-14]=
f1-2=3=7=11++13=-14]=
[B~9-10-11-12++0-0]=
[4-9—10—11—12++1]—14]=

39
24
46
42
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37511710 DUAL MEET SCOREE - DALTS

LYNBROOE [B-9-1l0-11-12++13-14]= %40 Los Gatos[1-2=-3-4=-5++6=7 "= 15
TUNBROOFR [E-92-10-11-124+13-141= 50 5'toga [1-2-3-4-5++B-7 )= 15
« (BROOK [6-=7=8-9-10++11-12]= 40 Homestead[1-2-2-4=-5++0-0]= 15
LYNBROOE [5-6—7-8-10++11=13]m 36 Fremont [1=-2=-3=-4=-3++12=14]= 19
FTYNBROOK [2-3-6-6=7++8-11]+ 23 c'tine [1-4-9-1D-]= 999
LYNBROODE [4-8-10-11-12++13-14]= 45 My [1-2=-3=-5=5++7=0]= 17
W LYNBROOK [1-2-1-4-B++h=7]= 15 3t F (1= a9y
{105:25.}
Loz Gatoa[l-2-31-4-5++5-7]= 15 LYNBRCOE [B=9=10=-11=12++13=14]= 50
Los Gatoe[1-2-5-8-9+4++11=-13]= 23 8'toga (3=-4-6-T7-101112-14]m a4
Los Gataos[1-2-3-4-5++6-7]= 15 Homestead [8=9=10=11=12++0=0]= ag
Loz Gatos[l-2-31-4-7++53-89]= 17 Fremant ([(5-5-10-1l1-12++13-1ld]w= 44
Los Gatos[l-2-31-4-5++7-8]= 158 C'tine {6—9-10-11-]= 999
Los Gatos{l-2-4-6-7V++8-9 = 20 HY [3-5-10-11-12++13-14]= 41
Los Gatae{l=-2=1-d~B++6~-T7 )= 15 5t F [1= ==l
(90:50.2)
5'toga [1-2=3=4=5+i6=T7]= i5 LYHBROOK [&-=-3-10-11-12++13-14]= a0t
Cl'toga [3=4=-6=7=-10++12-14]~ ag Iae Gatos[l-2=-B~-3-9++11-11]= 25
S5'toga [1=2=3=4=5++E=10]= 15 Homestead [ 7=B=9=11=12++0=0]= 47
5'toga [1=-2=-3=-4=-7++8-9]= 17 Frement [5-6-10-11-12+4413-14}= 44
5'taga [1=2-3—-4-5++7-B]= 1k C'tino [6=0=10=11-]= 3949
S'taga [1=3=4~6-7++8-107= 21 M [2=5-8-11-124+10-14]m a9
S'toga  [l-2-3-4-5++6-7 )= 15 St F [1= 994
[93:28.7)
'oestead[1-2-3-4-E++0-0]= 15 LYNBROQOK, [5-T7-8-9%—-1l0++11-12]= 40
Frenestead [8—-9-10-11-12++0-0]= B0 Lios Gatos[1=-2=-3-4-5++6—7]= 15
Homestead [7=8-9=11-12++0-01= 47 S"toga [1-2-2-4-5++5-1D]= 15
Homestead|[3=-4=-5-6—7F++0-0]= 25 Fremont [1-2-3-9=-10++11-12 = 30
Homestead[2=-3=-4=-8=6++0-0]= 20 C'tino (1=-T=8-9-]= oo
Homestead[3-4—-6-7=3++0=0]= 2B MV [1=2=-5-3—10++11-12]= 27
Aowestead [1-2—-3-4=-54+4+0=-0]m= 15 5t F [1= 999
(20:04.6)
Fremont [1-2=-3-d4-2++12-14]= 15 LYHNERDOE [5-4—-T—E-10++11-13]= IE
Fremont [5-6-10-11—-12++13-14]= 44 Lae Gatas[l=-2=-3-4-7++8-91= 17
Fremont [5-6-10-11-12++12-14]m 44 2'toga [1-2-3~4=7++8=5]= 17
Tremont [l-2-B-9-10+411-12]= K1H Homaestead[3-4-E-6-T7++0-017= 25
Fremont [l1=2-4-5-7++8-11]m= 19 Titing [3—&~9=10-]= 994
Frement {3—-4-6—7-=13++13-14]= 3 MV [1=2~B—8-9++1D0-11]= 25
Froemcnt [l1=2=3=-4-E++6-7]= 15 St F [1= 909
{(100:30.)
Srting [l—4-9=10=]= 099 LYNBROOK [2-3-5-6-7:+B-11]= 23
CrEine [E—9=10=11=-]= o549 Los Gatoe[l=-2=3=-4=0++7=R]= 18
C'tino  [B-9-10-11-]= G499 S'toga [1-2-2-4-5++7-B]= 15
c'tino [1=-7=B=5=T= 9449 Homestead[2=31=-4=-5=-5++0-0]= 24
c'tino [3-&=9-10=-]= 9499 Fremont [1=-2-4-5-7++E-11]= 14
a'tino [3=-9-10-11-]= a9g MY [l=2=4=5—6++7-8]= 18
C'tino [1=-2=3-4=-]= Q999 5t F [1= ggg
-f85:43.5)
. |t [1-2-3-B=6++F=91= 17 LYNEBRDOK [4-E-10-11-12++13=-14]= 45
MV [3-5-10-11-i2++13-14]= 41 Loz Catogs[l-2=4=-6=F++E=3]= 24
My [2=5=5=11-12++13=14]= 3% S'toga [1=3=-4=-6=7++8-10]= z1
My [1=2=5=9=10++11~12]m 27 Honestead [ 3—a—6=7—g++0-07= 2B
MV [1-2-5-8-3++10-11]= 25 Ffemmnt [izg:i53;13?:13-14]_ ggg
MY [1-2-4-56-G++7=8]= 18 citine  [3- 299
MV [1-2-3-4=5++6=7 )= 15 st F (]
e [y -y
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97/11/04 DUAL MEET SCORES — DALVE

.. .BROOK [8-92-10-11-12++123-14]= &0 Loz Gatog[l-2=3-4=5++6-7]= 15
L¥YNBROCE [7-9-10-11=-12++13-14]= 49 g taga [1-2=3=4=5++6-8B = 14
LYNEBROOE [4-5-7-3-10++12-13%]= 35 Homestead[l1-2-3-6t—-83++11-0]= 20
§- LYNBROOK [3-4-5-7-9++10-11]= 23 Fremont [1-2-6-B-12++0-0]= 29
LYNBROOE [GB-7-8-10-12++13=14]= 43 C'tine [1-2=-3=4-5++9-11]= l?
LYNBROOE [6-7-8-10-12++13-141= 43 MV [1-2=3-4-5++3-11]= 15
{96:44.7)
[ae Gatoa[l-2-3=d4=5++g=7]= 15 L¥NBROODE [8-9-10-11-12++13-14]= hHO
Los Batos[l=-2-3-4-§+49=-13]= 15 S'toga {S-7-3-10-11++1l2-14]= 11
Los Gatos[l-3-4-5-7++5-10]= 20 Homestead[2-6-8-11-12++13-0]= i
Los Gatos[l-2-3-4-E++5-0]= 15 Freamont [7-2-10-11-12++0={]= 48
los Gatoa[2-3-4-6-7++B-117= 22 Cftina [1=-5-89-10~12++13-14]= 37
Log Gateg[l-2-3-4-5++6-10]= 1% MV [7-8-9-11=12++13-14]= &7
{83:41.8)
S*toga [1-2-3—4-S++6—-8]= 15 LYNBROOE [7-9-10-11-12++13-14]= 49
2 tega [E=-7=-8-10-11++12=14]= 41 Los Gatos[l-2—3«-ad=-8++8=13]= 1la
S toga [3=-5=-6=7—HB++5=10]m= +9 Homeetead[1-2—4-11=-12v+12~-0]= 30
5 toga [1-2-3=S=6++T7=5%]= 17 Fremont [4-E-10-11-12++0-0]= 45
5ftoga [3=4-5-6-F++E=12]= 25 C'tine [1-2-9=10=-11++13-14]= 13
S'toga [1-2=1=6=B++7=121= iz M [A=B=9=10=-11++13-14]= 42
{88134.2)
Homegtead[1-2-3—-6=8+ r11-0]= 20 LYNBROO¥, [4-5E-T7-5=101+1d-13]= ik
estead[2-8-8-11-12++13-0]= i% Loz Gatos[1-1-4-5=7++9-]0]= 20
Bafeatead [ 1-2-4-11-12++13-0}1= 30 Srtoga [I~8-6-7-B++9-1D]= 24
Homesatead [ 1-2=3-6=7+F10-0]= 15 Fremnont [4=5=8=9=11++0=0]= 37
Homestaad [2—4-5-9-10++12-Q]= XD C'tino (1-3-6-7=-B4++11-12]= 25
Homeatead[1-2-3-9-10++13-0]= 2B L [&~5=&=TF=8++11-12"= 30
fA5:29.7)
Fremont [1-2-6=BE=12++0=0]~ 22 IYNBROOE [J=4=-5=V=8++10D=-1l]= 2B
Fremont [T-E-10-11i-12++40-=0]= 45 Los Gatos[l=-2=-3-d4-L+vrg=-87= 15
Fremont [4=B=10=-11=-1i2++(0=-0]= 45 5 toga [l=-2=-2-5-g+47-0]= 17
Fremont [4-5-«B=9=11+t0=0]= 3T Homestead[l-2=-3=-6=7++10=-0]= 13
Fremgont [I=6=8=10=12++0-0]= 3 &fting [l=2=4=5=7++2-11]= i
Fremont [l=4=9=11=12++0-0]= 37 My [Z=3=5=6=F++E=10]= 23
(99:04.0)
Crtino [l=2=3=4=5++3=1]]= 15 LYNEROOK [e=-7=B=10=12r+13=14]m 43
C*tino [1-5-5=-10-12++13—-14]= 37 Los Gatos[2=3=4=6=Y++8=11]= 22
Crtino [1=-2=-9=-10-11++13-14]= 33 S'tpga [3~4=B=G=74++B=12]= 25
C'tine [1-3-6—F—B++11=12 = 25 Homegtead[2=4=6=9=10++13=-0]— 30
Cftline [l=-2=4=5=T744+0=]1]]m 19 Fremont [3-6-E-1l0-1l2++0—-Q]= 3%
Cftino [1=2=5=6=E++12=14]= 22 MY [A=d=T=8=10++11=13]= 313
(B8:15.8)
MV [1L~2~3-4-5++5-11]= 15 LYNBROGE [6-7-8-10-12++13-14]= 43
MY [7=-8=-9=11=-12+r13=1d4d]m 47 Loz Gatos(l1-2-3=4=5116=10]m is
A [4=8=S9=10=11++13=14]= 42 S toga {l=-2=-3=f=-a++7=12]= 17
- [4=5=5=T7T=B++11-12]= 30 Homestead[1-2-3-8-10++12-0]- 25
M [2=3=h=E6=7++B=10]= 23 Frewmont {1=-4=-9=11-=12++0=07]= 37
Mv [3-4—-7-2-10++11-13]= 213 c'tino [1-2~B~E=-8++12—~14]= 2z
{81:50.7)
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[6=8=9-10-11++12-13]=
[2-7-10-11-12++13-14]=
(1-2=3-4-5++6-7 )=

(2-4-6-7=9++10-11]m
[3-4-E=7-0++10-11]=
[4-B=9=-10=12++13-14]=
[7-9-10-11-12++13=14]=
(120:26.)

Log GAtoa[l-2-3-4-5++¥-14]=
Log Gatos[l=2=3=4=5+tE8-14]=
Lee Gatosjl-2-3=-4=5++6-T7]m
Los Gatoa[l-2-3-4-5++7=12]=
l.og Gatos[l-3-4-5-6++8-121=
Los Gates[l-2-5-6—7++9-14]=
Ios Gatos[l-2-4-6—B++12-14]=
f102:21.}

5’ toga

[1=3-4-5-8++8-9 ]=

20
15
13
22
32

15

5 toga [6=7=-9-10-11++12=13]=
grtoga [l=2=3—4=B+r+B=T]=
S5'toga [1=-3=-4-6=74+B-10]=
Ertoga [3-4-5-A=7++E-9]=
Ertoga (4-5-7-10-11++12-13]=
&ftoga [E—8=-10-11-12++13=-14]=
114:14.)
Honcstead[ 1=
Homeztead|[ |=
Homeztead[ ]=
Homestead| =
Homestead[ =
Homeatead| ]=
Homestead[ ]=
(0:00.0}
Fremont [1-3-5-8=12++0-0]=
Fremont [6-8-3%=10-11++0-0]m
Fremcnt [2-5—-9-11-12++0=-0]=
Tremont [l1-2-3-4-5++0-0]=
Fremont [3—-4-5=7=10++0D-0]=
Fremont [4-6-3=-10-12++0=0]=
Fremont [7-%-10-11-12++0=0]=
(121:07.)
g'tine [L~2=6=8=13++0-0]m
crtina [2=T=0—-10—11++0={]=
crting [1=-2-10-11-12++0-0]=
crtine [1-2=-3-4-5++0-0]=
o tino i1-2-6-B-9++0-0]=
tino [1=5=9—-11=12++0-0]=
. tlino [1=7=10-11=12++G-0]=
f117:15.)
M [1-2-3-5-6++7-111=
[Tyl [3—-4-8-10-11++12-131=
MV {1-2-3-6-8++9-14]=
MV [1=2=3—4-5++56-T7]m
v [1-2-3=-5=7++3=11]=
[+ [2=3-4-6-7++8-10]=
b [l—2-6-11-12++13-14]=
(107:57.)
Rt F [1=2=3-4=5++6-8]=
st F [3-5=7=9=-10++11-13]F
St F [1-2=3=4-5++T=5]=
5t F [1-2-3-4-5446-7]=
St F [1-2-3~4-5+t+6-0]=
St F [2=3-4=53-G++B-F]=
st F [wd=F=7—E+4+9=10]=
(EO5:42.)

a8 = Incowmpleta Taam

44
42
15
28
28
13
449

15
15
15
15
19
Z1
21

19
43
LS
A1
25
i
&7

a3
g9
Soh
G55
ahs
G99
299

29
44
19
15
24
a1
49

24
39
16
1=

3B
41

17
36

Los Garog[l=2-3-4=0++7=14d]=
5*'toga [1-3-4-E-64t8-0]=
Homesatead[]=

Fremont [1-3-5-B-12++0-0]=
cfting [1=2=6-8-12++0-0]=
MY [1-2=-2-5-6++7=11]=
gt F = [1-2-3-4-5++6-3]=

LYNBROOE [6-8-9-1D-114+12-13]=
S5toga 16=T-2-10=11++13-13]=
Honestead| )=

Fremont [&6-8-2-1e-11++0-0]=
crtine [2=F=8-10-11++0-0]=
MV [3=-4-E=-10-114++12-13]=
5t F [I-5-7-9=10++11-13]=

LYNBROCE [2-7-10-11-12++13-14]1=
Los Gatos[l-2=-3=-4=5++8-14]=
Hemasteadi]=

Frepmont [2-5-9-11-12++0-0])=
C'ting [1—-2=-10-11-12++0—-0]=
My [1-2-3-6-8++3-14]=

st F [Le2=3=d=F++7-0]w

LYNPROOK [l-2-3—4-5+46-7]=
Los Gatos[i=-2=-3=-d-B++G6-7]=
Srroga [1=2=3—4=h++5=T7]=
Fremont [1-2-31-4-54+4+0=0]=
C'tino [1=2-3—4=5++D=0]=
M7 [1=-2=3-4-5++6=7]=
Bt F [l=2=3—4-5++6=T]=

LYNBEOODE [2-4-6-7-3++10-11]=
LoE Gateos[l-2-3-4-5++7-121=
Eftoga [l-3-4-6=-7+48-10]=
Hemaatead[ 1=

Cftinc [l-2—E=8=D++0-0]=
LAy {1-2=4=5=7++E-11]=
St F [1-2-3-4-5++E5-B]=

LYNBROOK [3-4-5-7-9++10-11]=
Los Gates[l-3-4-5-6++B-12]=
5'toga [3-4-6-5-T++B-9]=
Honestead[ )]s

Fremont [3-4=5=7=10++0-07=
MY [2=3=-4-6—T++8=10]=
5t F [a=3—4-5-at++8-5]=

LYNBROOK [4=8-9-10=12++13-14]=
Los Gatos[i-2-5-G-7-10-141=

5rtoga [4-5~T7=-10-11++12~13]=
Homestaad] |=

Fr

ewont [4-6-~9-10=12++0-0]=

cfeine [1-5-9-11-132++0=0]=

5t

L¥
La
EJ
] Le]
Fr
cl‘
MY

F [3~4-5-7-B+4+9=-1D0]=

NBROOK [?-9—10-11—12++13-14]=

g Catos[1-2—4=-6-3++12-14]=

Loga [6*8-10-11-12++13-14]-

mestead[ ]=

emont [7-9-1&—11-12++0-n]=

Tino [1-7-10-11-12+4+0-0]=
[1-2—6-11‘12++13—14]=

14
19
2L
29
29
17
15

44
43
BEO
44
39
36

42

59%
E1-]
26

15

15
1z
P
15
15
1%
15

28
145

w94
2E
18
15

ZE
19
2h
259
28
a2
z0

43
21

25

47
o939
49
41
3z



